T =0
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>
e
re
ton
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A= &5 L MZAHNE 28

g Al

CHB - E(BH) - MM - B il Bl RE2
565,945 906,285 A 340,340
23 2 MAMNE P2E 475,448 692,781 A 217,333
SHO XEHele 24 475,448 692,781 A 217,333
=S flst 22 ¢ g2 251,361 244,939 6,422
2 B2 F | 6,252 30,286 A 24,034
AtS 22l 5,832 29,878 A 24,046
OEM=Y 1,200
- NEAE 50,000& =10 500
- NEE 100
PN P e 100,000 =33 300
—NH2sgae 100, 000& »2& 200
-IHNAR 100
O8=+9 & K2 WA 4,392
—8=% MA 70,0003 1004 43 2,800
—Y2rE ME 22,0003 x 1801 23] 792
-¢UHE M 800
FII2 & Rty 20U
503 *4,00001 x43 800
OXEIEESR & =8 100& *800A 80
OR4+dl ¥4+3 54X
80,000 = 1CH »2H 160
23224 420 408 12
Ozctel §2X& ol StAEE
35,000 x1CH*12& 420
308 XXM SO A 84,836 84,123 713
M3 2S0HetE & XA HI 84,836 84,123 713
OXNTMEBEANLAE SXE=Hl 58,159
- NEAMAAE 2H2te] 33,484
—RISEAAAE 2H 2 23,327
—AAE & HMEEE SE2clAlAE 1,348
OXMI NEMBEANAE X EHI 918
OMe+=LHEANAE RXEH| 25,759
403 MHXSHHSA=0l& 160,273 130,030 30,243
02 S 2S0CHet A = H 2 & AL H 160,273 130,030 30,243
OXHICH XNEHMBEAAE HESANY 2E3 63,029
OXAICH XNEAA=LAAE HESIAY 2
= 97,244
DANMNE HZ 35,745 72,660 A 36,915
yer2 | 35,745 72,660 £36,915
01 At 22l 35,745 72,660 A 36,915
OJXXA M2 18,145
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A N2
M NEME 2HE Y MAME 7
Chel: N2=HS XEele 24 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
- XA B2 & SEDXNM(16+11)
90,000& 1208 A 10,800
- KA g2 A DM S(A)
55,000 *30 A 1,650
- M2l SEIDXAMN(A4) 55,0003 158 A 825
—M2I2=2 MEDXIA(16%11)
90,000 »485+ A 4,320
-He L ZEAUHE MAI(8.3+11)
55,0002 10 A 550
ODXAM &% 15,760
~NYAH B U SEDTM(SAA)
403 +190,000A 7,600
- B U SEDTM(2EA)
60& *66,000A 3,960
—M2Ia=2 MYDXAH(SAHA)
403 +25,000A 1,000
—N MEDXMH(EEA)
60& +50,000A 3,000
MY ¥ ZEQUI(EAMA) 408 +5,0002 200
OLE DXAM % SRS =€ 1,840
-&=2&E 403 *20,0000H 800
- EE 402 *15,0000H 600
-sF 220& *2,0000H 440
SdR20AAMS Y 147,240
201 £B-2dH| 147,240
02 3323l 147,240
OFJIE & A2 fEESEE 101,800
- Sl 2,480& 15,0004 37,200
— ot 380& *170,000A 64,600
OMELXAN & HES2ARBLSS 45,440
-7l 2,480& +3,000A 7,440
— Bt 380& 100,000 38,000
Mg A+283 235t 7,070
201 Let2d] 7,070
01 At 22l 2,010
ORSH SIIZY S 2E $48 360
-RSUYUR U YRHM SHL2
1,000& x30A4 123 360
OBMH™MZ(RSA, X, JIEHRAH)Z 1,650
~YFWIIL4E S THOBL4E
330,000& x5 1,650
02 =224l 5,060
ONA=LHEL MEFE0E+=+E 5,060
-MEBHEXS =25 3,960
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AN N1t
g U=F=0HE &5 & AAE 7
Sl MYUSEO XNAUE LA (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-T2 R S 02 1,100
MegZeladst LA &= 22,900 32,800 29,900
201 Lt 1,900 1,900 0
03 &Ar2 I 1,900 1,900 0
ONZBESRet0SH el 1,900
303 &3 21,000 30,900 29,900
01 L& = 21,000 30,900 29,900
ONEE e+ FLTAS U 2Y2AH &
=AX EI ANAS 21,000
—UEE NS Amiz 20,000
—NH2+ 2URAN A EI AYS 1,000
NEHR 45t 1,800 2,700 A 900
203 YR =&l 1,800 2,700 A 900
03 AIBFAH S =AY 1,800 2,700 A 900
OME g2&dst =& 1,800
NE 23?3z 29 2,800 1,960 840
201 Let24d] 2,800 1,960 840
01 At 22/l 2,800 1,960 840
OXNgHAAREA=H
100,000 & »7 & *43] 2,800
NLNARIS2Z 3t 6,532 7,442 2910
306 =93 6,532 7,442 A910
01 &3 6,532 7,442 A 910
OXNZHNHAZE EAHS 6,532
HY2FZH (M) 90,497 213,504 A 123,007
Jl23&dl 90,497 213,504 A 123,007
JlE2zl 90,497 213,504 A 123,007
201 et 22,457 43,784 N21,327
01 At 22l 22,457 43,784 A21,327
O=AERX ¢ 20,0003 *10 A %128 2,400
OFAINI AL 2 4,505
-~ T2 HENY 132,000 =50 43| 2,640
- ZAUEEHEUY 145,000 »3CH »32] 1,305
-&d A 280,000& »2CH 13 560
OAIZtIZ2 S A 8,000& «5. 541 x24H «12& 12,672
EM2EIE2+=8H| 10,000& 24 » 128 2,880
202 44l 57,600 161,280 A 103,680
01 S LHOYI 57,600 161,280 A 103,680
(@F=48 N0 :] 200,000& *x24H x12& 57,600
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M HH2AZH (M)
¢l =gl (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 YR =&l 4,200 5,880 A 1,680
04 FN2ELRZ=TH 4,200 5,880 A1,680
ORMN2ILRFAEI(F | 252 0ldt)
350,000& =122 4,200
405 XHoHF S HI 6,240 2,560 3,680
01 HatH ESFH S 6,240 2,560 3,680
OZ& QX WA 7 240,0002 264 6,240
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